BILL OF MATERIAL

MARK  SIZE DESCRIPTION QY WEIGHT
L 3 PIPE, SMLS, BW, SCH.80, ALO6 GR B 197 MM 2.3
2 2 PIPE, SMLS, BW, SCH, 80, AL06 GR B 141 MM L1
3 3X2 TEE, RED, BW, SCH B0, A234 GR WPB ) 2.2
4 ELBOW, 90 DEG, LR, BW, SCH. 80, A234 GR 2 41
WPB
5 2 ELBOW, 90 DEG, LR, BW, SCH. 80, A234 GR 1 0.9
WPB
6 3 FLANGE, RFWN, CL60D, SCH. 80 BORE, ALOSN 2 20. 9
7 2 FLANGE, RFWN, CL600, SCH. 80 BORE, A10SN 1 5.5
8 3 GASKET, CL600 SPIRAL WOUND, 316 SS / 2 2.0
FLEXIBLE GRAPHITE
9 2 GASKET, CL600 SPIRAL WOUND, 316 SS / 1 1.0
FLEXIBLE GRAPHITE
[0 3/4x127 <@ STUD BOLTS W/ NUTS, A193 GR B7M / 2 2.0
A194 GR 2HM
g 5/8X108 <8 STUD BOLTS W/ NUTS, A193 GR B7M / ! 1.0
A194 GR 2HM
12 3 VALVE, BALL, RP, RF, NACE, CLASS 600 L 38, 6
ASME, ALO03N
TOTAL FABRICATION WEIGHT 81. 2
CUT PIPE LENGTH
PIECE LENGTH SiZE
NUM (MM ¢ INCH)
Y 197 0 3
¢B 141 2
N
8
X217
DIPING DESIGNED IN ACCORDANCE WITH ASME B31.3 2010 EDITICN, CADO INDUSTRIES INC CUSTOMER: PENNWEST EXPLORATION
PIPE SPEC..  CS WELD PROC:  CADO-S 7491 — 110 AVE SE, CALGARY, ALBERTA T2C 3B8 UNIT MO 2013-070-601
DESIGN PRESS. 9378 KPAG RADIOGRAPHY:  100% TEL: (403) 279-6662; FAX: (403) 279-6687
DESIGN TEMP.. 90 DEG. C PWHT: N/A MODEL: 4—WELL SEPARATOR SKID (BU~2000)
MOMT: -29 DEG. C PICKLE & OIL:  N/A LOCATION:
CA. 1.6 mm SANDBLAST: SP-6 . . T -
- —_— , _ LN T3 V~2300 CONDZNSATE OUTLET
TEST PRESS.: 14064 KPAG PANT: WARM GREY 0 | ISSUED FOR CONSTRUCTION njeis] @ | owe | owe =
TEST MEDA WG NSULATON:  N/A 0. RVISION DA | B | cik | apr | CRAWNC MO 273-12A g




BILL OF MATERIAL

MARK  SIZE DESCRIPTION OTY  WEIGHT
1 3 PIPE, SMLS, BW, SCH. 80, Al06 GR B 438 M4 5.0
2 2 PIPE, SMLS, BW, SCH 8C, Al06 GR B 631 MM 4.8
3 3X2 REDUCER, CONC, BW, SCH. 80, A234 GR WPB 1 0.9
4 3 ELBOW, 90 DEG, LR, BW, SCH.8C0, A234 (R 1 2.1
WPB
5 2 ELBOW, 90 DEG, LR, BW, SCH. 89, A234 GR 2 1.8
WPB
6 3 FLANGE, RFWN, CL60Q, SCH. 80 BORE, ALQSN ! 31.3
7 2 FLANGE, RFWN, CL600, SCH. 80 BURE, ALOSN { 5.5
8 3 GASKET, CL60D SPIRAL WOUND, 316 SS / 2 2.0
FLEXTBLE GRAPHITE
9 3/4X127 (8> STUD BOLTS W/ NUTS, A193 GR B7M / 2 2.0
A194 GR 2HM
10 3 Y-STRAINER 1
TGTAL FABRICATION WEIGHT 55. 0
CUT PIPE LENGTH
PIECE LENGTH SIZE
NOM (MM ¢ INCHD
.. (B> 242 3
e, o 490 2
Y (D> 4t D 2
) EDNT’D
Oy
SHEE
h
g,
.
18;.\
PIPING DESIGNED IN ACCORDAMGE WiTH ASME B831.3 2010 EBITION, CADO INDUSTRIES INC. CUSTOMER! PENNWEST EXPLORATION
PIPE SPEC:  ©S WELD PROC.  CAIO-D 7491 - 110 AVE SE, CALGARY, ALBERTA T2C 3B8 ONT NO 2013-070-601
DESIGN PRESS.. 9376 KPAG RADIOGRAPHY:  100% TEL: (403) 279-6662; FAX: (403) 279-6687
DESICN TEMP.: 90 DEG. C PWHT: N/A MODEL: 4-WELL SEPARATOR SKID (BU-2000)
MOMT: -29 DEG. C PICKLE & Ok N/A LOCATION:
oA o mm ANDBAST PO INE TAG: y=2300 CONDENSATE OUTLET
TEST PRESS. 14064 KPAG PAINT: WARM GREY 0 | ISSUED FCR CONSTRUSTION afp/is| AR | we | e —
—oT - i aTal o TaT¥? : f \ Sasay - 1 \ Mg o DR.‘\WE‘\IG NG.: I:--/'G—‘IZB i?:/ r\\
TZST MIDIA: WO INSULATION:  N/A M. RDAON DATD | 37 | CHK | APR | 0




71

Il OF MATERTAL

MARK  SIZE NESCRIPTIDN aTy WE [GHT

1 £ PIPE, SMLS, BW, SCH. 80, ALD6 GR B 514 MM 3.9

e 2 TURBINE METER 1 0.9

3 3xa REDUCER, CONC, BW, SCH.80, A234 GR WPB 1 c.9

4 3 BLEED RING, RF, 60C#, RF, 21mm HOLE ! 1.0

B 3 FLANGE, RFWN, CL60O, SCH. 80 BORE, AIOSN 1 10.5

6 2 FLANGE. RFWN, CL60O, SCH. 80 BORE, ALQOON 3 16. 4

7 3 GASKET, CL600 SPIRAL WOUND, 316 S§ / 3 3.0
FLEXIBLE GRAPHITE

8 2 GASKET, CL600 SPIRAL WOUND, 316 SS / 3 3.0
FLEXIBLE GRAPHITE

3 3/4X127 (8) STUD BOLTS W/ NUTS, A193 GR B7M / 1 L
A194 GR 2HM

10 5/8X108 (§) STUD BOLTS W/ NUTS, A193 GR B7M / 2 2.0
Al94 GR 2HM

11 3 VALVE, BALL, RP, RF, NACE, CLASS 60C i 38.5
ASME, AIT0SN

12 3 CONTROL VALVE, FISHER ET, £0CLB FLG, Rf ! 1.0

TOTAL FABRICATION WEIGHT 81.3

L_EUT PIPE LENGT;—I

PIECE LENOTH SiZt
NUM (MM ¢ INCH>
CAY 343 2
<G> 171 e
Ny
U7
D\lan
U

SPING DESGNED IN ACCORDANGE WITH ASME B31.3 2018 EDITION, CADO INDUSTRIES INC. CUSTOMER. SENNWEST EXPLORATION
PPE SPEC.:  C° WELD PROC.  CADO= 4491 — 110 AVE SE, CALGARY, ALBERTA T2C 3BU e~ 2013-070-60"
DESIGN PRESS. 9376 KPAG RADIGGRAPHY:  100% TEL: (403) 279-6662; FAX: (403) 279-6687 '
DESIGN TEMP. 90 DEG. C PWHT: N/A 1 MODEL: 4-WELL SEPARATOR SKID (BU-2000)
MDMT: ~29 DEG. C PICKLE & Ol N/A i LOCATION:
CA: 1.6 mm SANDBLAST:  SP-5 ‘ — : — - -
i " T g - UNE TAG: \V—2300 CONDENSATE QUTLET
1557 PRESS. 14084 KPAG | panir: NARM GREY 3 | ISSUED 37 SONSTRLITON S| e | e | W |
‘ B ' 1 A N AW (K Tal i .
TEST WEDIA WOG i!NSULNEOFR N/ NG, l 2U050N i SATT 1 BY rug A2 DRAN'NG NOU 070-12C &?_ 0

L



Bi_L OF MATERIAL

MARK  SIZE DESCRIPTION ary WEIGAT
1 2 PIPE, SMLS, BW, SCH. 80, A106 GR B 141 MM 1.1
2 xe TEE, RED, BW, SCH 80, Ac34 GR WPB 1 2.2
3 3 FLANGE, RFWN, CL60O, SCH. 80 BORE, AICON 2 20. 9
4 3 GASKET, CL&00 SPIRAL WOUND, 316 SS / 4 4.0
FLEXIBLE GRAPHITE
3 3/4X127 (8) STUD BOLTS W/ NUTS, Al193 GR B7M / 3 3.0
AL1S4 CR 2HM
6 3 VALVE, SWING CHECK, RF, NACE, CLASS 600 ! 61.3
ASME, A105N
7 3 VALVE, BALL, RP, RF, NACE, CLASS 600 1 38.6
ASME, A10SN
TOTAL FABRICATION WEIGHT 130. 8

(_CUT PIPE LENGTQAW

PIECE LENGTH S1ZE
NUM (MM C INCHD
A 141 2
SIPIG DESIGNED IN ACCORDANCE WITH ASME B31.3 2010 EDITION, CADO INDU STRIES INC. CUSTOMER: PENNWEST EXPLORATION
PIPE SPEC.. S WELD PROC:  CADO-S | v491 — 110 AVE SE, CALGARY, ALBERTA T2C 3BB ONT O 2013-070-601
DESIGN PRESS.: 9376 KPAG RADIOGRAPHY:  100% TEL: (403) 279-6662; FAX: (403) 279-6687
___.__-——-——————_—“__A—_— T ' I —~ —_ g
MOMT: ~29 DEG. C PICKLE & Ol N/A | OCATION:
oo T AN ! T. —R i

A iemm  [SWOMSE Y3 — NE TAG V-2300 CONDENSATE OUTLET
TEQT PRESS. 14084 KPAD | PANT: CWARM GREY o [ ISSUED I CONSTRLCTEN [/t a2 | owe | WC =
5T MDA WOG CINSULATON: N/ TN 74508 T oaE | o3v | Ohk | PR DRARNS A 070-120 fret




BILL [F MATERIAL

MARK  SIZE DESCRIPTION QTY  WEIGHT
! 2 PIPE, SMLS, BV, SCH. 80, ALD6 GR B 2976 MM 22,0
2 2 ELBOW, 90 DEG, LR, BW. SCH 80, A234 GR 3 2.7
WP3
3 2 FLANGE, RFWN, CL600, SCH. 80 BORE, ALOSN ! 5. 5
4 2 GASKET, CL600 SPIRAL WOUND, 316 SS / ! L0
FLEXIBLE GRAPMITE
5 5/8X108 (8) STUD BOLTS W/ NUTS, A193 GR B7M / ! {0
A194 GR 2HM
6 2 VALVE, GLOBE, RF, NACE, CLASS 600, ASME, ! 40. 9
ALOSN
TOTAL FABRICATION WEIGHT 72. 8
292
CUT PIPE LENGTH
PIECE LENGTH SIZE
XU NUM (MM ¢ INCH)
N 1939 2
i, (B> 320 2
w5y, <0 717 2
®)
SPINDLE E45 U45

PIPING DESIGNED IN ACCORDANCE WITH ASME B31.3 2010 EDITION, CADO INDUSTRIES INC CUSTOMER: DENNWEST EXPLORATION
PIPE SPEC.  CS WELD PROC..  CADO-3 7491 — 110 AVE SE, CALGARY, ALBERTA T2C 388 UNIT MO 2013-070-601
DESIGN PRESS.. 9376 KPAG RADIOGRAPHY:  100% TEL: {403) 279-6662; FAX: (403) 279-6687
MOMT: -29 DEG. C PICKLE & OI:  N/A LOCATION: '
CA: 5 SANDBLAST: SP-5 -
i.5 mm ! 51 6 . i LNE TAG: V—2300 CONDENSATE QUTLET
TEST PRESS.: 14064 KPAG PAINT: WARM GREY 0| ISSUED FOR CONSTRUCTICN nAY/2003 ] AR Wo ol WC T
TIST VEDAT  WOG NSULATION:  N/A NO. RIVIS.0N WE | 3¢ | 0 ARR ORANNG MO 070-12¢ A




0

-

X390
NN

MARK

Mg —

O O~ [#7]

10
11
le

[ %]
—
™~
5]

|

>
o

o LN W mn WLanaw

3/74X127
5/8X108
3

BILL OF MATERIAL

DESCRIPTION

PIPE, SMLS, BW, SCH. 80, AlG6 GR B

PIPE, SMLS, BW, SCH. B0, AlO6 GR B

TEE, RED, BW, SCH. 80, A234 GR WPB

ELBOW, 90 DEG, LR, BW, SCH. 80, A234 R
WPB

£LBOW, 90 DEG, LR, BW, SCH.80, A234 R
WPB

FLANGE, RFWN, CL60Q0, SCH, 80 BCORE, ALOSN

FLANGE, RFWN, CL600, SCH. 80 BORE, A10ON

GASKET, CL600 SPIRAL WOUND, 316 SS /
FLEXIBLE GRAPHITE

GASKET, CL600 SPIRAL WOUND, 316 SS 7/
FLEXIBLE GRAPHITE

(8) STUD BOLTS W/ NUTS, A193 GR B7M /
AlS4 GR 2HM

¢8) STUD BOLTS W/ NUTS, Al193 GR B7/M /
AlS4 GR 2HM

VALVE, BALL, RP, RF, NACE, CLASS 600
ASME, A109N

TOTAL FABRICATION WEIGHT

Rl R el A4
— 0= L

D

—
o~ [ O [as] [N & N )

38.

8l.2

cuT

PIPE LENGTH

PIECE
NUM

<A
(B>

J00

LENGTH
(MM

37 O
141

STZE
¢ INCH)

3
2

DIPING DESIGNED IN ACCORDANCE WITH ASME B31.3 2010 EDITION,

PIPE SPEC.:

Cs

WELD PROC.:

CADO-5

DESIGN PRESS..

9376 KPAG

RADIOGRAPHY:

1007

CADO INDUSTRIES INC.

v491 — 110 AVE SE, CALGARY, ALBERTA T2C 3B8
TEL: (403) 279-6662; FAX: (403) 279-6687

CUSTOMER; PENNWEST EXPLORATION

UNIT MO.: 2013-070-601

DESIGN TEMP.:

90 DEG. C

PWHT:

N/A

MODEL: 4-WELL SEPARATOR SKID (BU--2000)

MOMT:

-29 DEG. C

PICKLE & OIL:

N/A

LOCATION:

CA.

1.6 mm

SANDBLAST:

SP-8

LINE TAG: V-2400 CONDZNSATE

TEST PRESS.:

14364 KPAG

PAINT:

WARM GREY

ISSUED FCR CONSTRUCTION 11/10/2013

AP NC

OUTLET

TRST MEDIA:

WG

| INSULATION:

N/A

NO,

REVISION o DA

o | DRANING MO N70-13A

(o]




BILL OF MATERIAL

MARK  SIZE DESCRIPTION QrY  WEIGHT
1 3 PIPE, SMLS, BY, SCH. 80, AL06 GR B 438 MM 5.0
2 2 PIPE, SMLS, B, SCH. 80, A106 GR B 631 MM 4.8
3 3%2 REDUCER, CONC, BW, SCH. 80, A234 GR WPB ! 0.9
4 3 ELBOW, 90 DEG, LR, BW, SCH. 80, A234 GR { 2.1
WPB
5 2 ELBOW, 90 DEG, LR, BW, SCH. 80, A234 GR 2 1.8
WPB
6 3 FLANGE, RFWN, CL600, SCH.BG BORE, AL0SN 1 313
7 2 FLANGE, RFWN, CL600, SCH. 80 BORE, ALCSN 1 5.5
8 3 GASKET, CL600 SPIRAL WOUND, 316 SS / 2 2.0
FLEX[BLE GRAPHITE
9 3/4X127 (8 STUD BOLTS W/ NUTS, AL93 GR B7M / 2 2.0
AL94 GR 2HM
10 3 Y-STRAINER 1
TOTAL FABRICATION WEIGHT 55. 0
CUT PIPE LENGTH
PIECE LENGTH SIZE
NOM (MM ¢ INCHD
, (B 242 3
s (> 490 2
NI <D 4 D e
CDNT‘B
Oy
SﬁEET
3
070\13
) 4
EL +1056
PIPING DESIGNED IN ACCORDANCE WITH ASME B31.3 2010 EDITION, CADO INDUSTRIES INC. CUSTOMER: PENNWEST EXPLORATION
PIPE SPEC.. €S WELD PROC..  CADO-5 ~491 — 110 AVE SE, CALGARY, ALBERTA T2C 3B8 UNIT NG 2013-070-601
DESIGN PRESS.: 9376 KPAG RADIOGRAPHY:  100% TEL: (403) 279-6662; FAX: (403) 279-6687
DESIGN TEMP.: 90 DEG. C PWHT: N/A MODEL: 4—WELL SEPARATOR SKID (BuU-2000)
MDMT: 29 DEG. C PICKLE & Ol N/A LOCATION:
CA 5 ms SANDBLAST:  SP-6 CNRATE
CA: 1.8 mm SANDBLAST 6 L LINE TAG: V-2400 CONDENSATE QUTLET
TEST PRESS.: 14084 XPAG PAINT, WARM GREY o [iSSUED 0% CONSIRUCTION (el a2 1w | owe —
TEST MEDWA:  WOG NSULATION:  N/A NO. ATVI310N TowT | 3¢ | CWK | ApR | DRAMING NO- 070-133 ™




—

PIECE LENGTH SIZE
NUM ¢ MM) CINCHD
343 2
> 171 2
vl
3\076
\13
)
SIING DFSIGNED M ACCORDANCE WiTH ASME 831.3 2010 EDITION, CADO INDUSTRIES INC. CUSTOMER: SENNWEST EXPLORATION
PIPE SPEC: € WELD PROC:  CADOS ~491 — 110 AVE SE, CALGARY, ALBERTA T2C 3BB UNT MO 2013-070-601
DESIGN PRESS.: 9378 KPAG RADIOGRAPHY:  100% TEL: (403) 279-6662; FAX: (403) 279-6687
. WD r AT I foni_
DESION TEMP: 90 DEG. € PHT: N/A | MODEL: 4-WELL SEPARATOR SKID {BU-2000)
MDMT: ~29 DEG. © PCKLE & Ol N/A 1 LOCATION:
e S aopsn | ‘ NS TG V-2400 CONDINSATE OULLET
TEST PRESS. 14084 KPAS | PANT, HARM GREY D | ISSUED FOR CONSTRLITICN [noson] ap | ows | WC - - o=
| ‘ 3 e DRANNG N 070-13 |
TIGT MIDI W00 | INSULATION: N, A NO. 2SN [ ooarE | 3v [ oEK | AR DRANNG M3 070-13C

BiLL [F MATERIAL

MARK  SiZE - DESCRIPTICN ary

1 2 PIPE, SMLS, BW, SCH. 80, AlD6 GR B Jl4 MM

2 2 TURBINE METER 1

3 3X2 REDUCER, CONC, BW, SCH. 80, AZ34 GR WP3 !

4 3 BLEED RING, RF, 600%, RF, Z2lmm HOLE ‘

3 3 FLANGE, RFWN, CL60Q, SCH. 80 BORE, ALOSN |

) c FLANGE, RFWN, CL6CO, SCH. 80 BORE, AlOSN 3

7 3 GASKET, CL600 SPIRAL WOUND, 3i6 SS / 3
FLEXIBLE GRAPHITE

8 e GASKET, CL600 SPIRAL WOUND, 316 SS / 3
FLEXIBLE GRAPHITE

9 3/4x127 ¢8) STUD BOLTS W/ NUTS, Al93 GR B7M / 1
A194 GR cHM

10 5/8X108 (g) STUD BOLTS W/ NUTS, Al93 GR B7M / 2
A194 GR 2HM

il 3 VALVE, BALL, RP, RF, NACE, CLASS 60C !
ASME, A10SN

12 3 CONTROL VALVE, FISHER ET, 600LB FLG, RF 1

TOTAL FABRICATION WEIGHT

CUT PIPE LENGTH

——
W WEO—OOw

—_

o

38.

o a~ [e0] (] [ [ ¥ e KN+ N SN e}

|

[ee]
i
wn




MaRK  S1ZE

1 2

2 3X2

3 3

4 3

3 3/74X127
& 3

7 3

SILL DF MATERIAL

DESCRIPTION

PIPE, SMLS, BW, SCH. 8C, A106 GR B

TEE, RED, BW, SCH. 80, A234 GR WPB

FLANGE, RFWN, CL600, SCH. 80 BORE, ALOSN

GASKET, CL6CO SPIRAL WOUND, 316 SS /
FLEXIBLE GRAPHITE

(8y STUD BOLTS W/ NUTS, ALS3 GR B7M /
#194 GR 2HM

VALVE, SWING CHECK, RF, NACE, CLASS 600
ASME, A10SN

VALVE, BALL, RP, RF, NACE, cLASS 600
ASME, ATOSN

TOTAL FABRICATION WE IGHT

[:ng PIPE LENGTH

141 MM I}
1 2.0
2 20. 9
4 4.0
3 3.0
1 61.3
1 386

PIECE  LENGTH SIZE
NUM ¢ MM) ¢ INCH3
a0 14} 2
DIPING DESIGNED IN ACCORDANCE WITH ASME B31.3 2010 EDITION, CADO INDUSTRIES INC. CUSTOMER: SENNWEST EXPLORATION
PIPE SPEC.: CS WELD PROC..  CADO-S 4491 - 110 AVE SE, CALGARY, ALBERTA T2C 3B8 . AT
UNIT NO.: 2013-070-601

DESIGN PRESS. 9376 KPAG RADIOGRAPHY:  100% ~ TEL (403) 279-6662; FAX: (403) 279-6687
DESIGN TEMP.. 90 DEC. C PWHT: N/A \ MODEL: 4—~WELL SEPARATOR SKID (BU-2000)
MOMT: -28 DEG. C PICKLE & OfL:  N/A LOCATION:
CA: 1.6 mm SMOBLAST P2 . E T V—2400 CONDENSATE QUTLET
05T PRESS. 14084 KPAG | AT, WARM GREY | ISSUED £C2 CONSTRLITON 11/19/2013 WC =
TIST MEDIA; WOG | INSULATION: NAA 1N | 050N | oaTe | oBY | O APR JRAWNG NO. 070-130 1 S




]

BILL OF MATERIAL

MARK  SIZE DESCRIPTION GTY  WEIGHT
! 2 PIPE, SMLS, BW, SCH. 80, A106 GR B 2976 MM 22.0
2 2 FLBOW, 90 DEG, LR, BW, SCH. 80, A234 GR 3 2.7
WPB
3 2 FLANGE, RFWN, CL600, SCH. 80 BORE, AIOSM 1 5.5
4 2 GASKET, CL600 SPIRAL WOUND, 316 SS / 1 1.0
FLEXIBLE GRAPHITE
5 5/8X108 (8 STUD BOLTS W/ NUTS, A193 GR B7M / 1 1.0
A194 GR 2HM |
6 2 VALVE, GLOBE, RF, NACE, CLASS 600, ASME, 1 40.9
ALOSN
TOTAL FABRICATION WEIGHT 72.8
292
CUT PIPE LENGTH
PIECE LENGTH SIZE
NOM MM ¢ INCH)
Wy _ > 1939 2
g (B> 320 2
..'.,' x49 098 ® 345) / - 3'~CQNT‘D C> 717 2
Yy N\
N (A SPINDLE E45 U45 <Oy SHEET
8013
\O?O
\13
A
N
N
A%
A0
T 2013 g
gt
rd i
o
PIPING DESIGNED IN ACCORDANCE WITH ASME B831.3 2010 EDITION, CADO INDUSTRIES INC. CUSTOMER: DENNWEST EXPLORATION
PIPE SPEC..  GS WELD PROC.  CADO-S %491 — 110 AVE SE, CALGARY, ALBERTA T2C 3B8 ONIT NO: 2013070601
DESIGN PRESS.: 9376 KPAG RADIOGRAPHY:  100% TEL: (403) 279-6662; FAX: (403) 279-6687
DESIGN TEMP.. 90 DEG. C PWHT: N/A MODEL: 4—WELL SEPARATOR SKID (BU-2000)
MOMT: ~29 DEG. C PICKLE & OIL:  N/A LOCATION:
CA: 1.6 mm SANDBLAST:  SP-B
, LUNE TAG: V-2400 CONDENSATE QUTLET
TEST PRESS.: 14084 KPAG PAINT: WARM GREY 0 | ISSUED FOR CONSTRUCTION nwo/on oA Lows | owe = =
TEST MEDIA: 06 NSULATION: N/ NO. RDVS0N IEERER R R 070-13¢ =




Bl

v,

BILL OF MATERIAL

i —

MARK  SIZE DESCRIPTION QrY  WELGHT
! 3 PIPE, SMLS, BW, SCH 80, Al06 GR B o M4 3.6
Coy 2 2 PIPE. SMLS, BW, SCH 80, AL06 GR B 141 MM 1.0
[l 3 3X2 TEE, RED, B, SCH.80, A234 CR WPB | 2.2
Oy ¢ 4 X1/2 TAREDOLET, CL3000, ALOSN 1 0.2
HEETE S 2 ELBOV, 50 DEC, LR, BV SCH. 80, A234 CR 1 0.9
WPB
Ry 6 3 CLANGE, RFWN, CL60O, SCH. 80 BORE, ALOSN 2 41.8
U0 7 2 FLANGE, RFWN, CL60O, SCH.80 BORE, ALOSN ! 5.5
-8 8 3 GASKET. CL600 SPIRAL WOUND, 316 SS / 3 3.0
et FLEXIBLE GRAPHITE
A 9 2 CASKET, CL600 SPIRAL WOUND, 316 SS/ i 1.0
i CHUD FLEXIBLE GRAPHITE
10 3/4%X127 (8y STUD BOLTS W/ NUTS, A193 GR B7M / 3 3.0
A194 GR 2HM
\|  s5/8x108 (& STUD BOLTS W/ NUTS, A193 GR B7M / 1 1.0
A194 GR 2HM
2 3 VALVE. BALL, RP, RF, NACE, CLASS 600 { 38, 6
ASME, ALOSN
3 ¥-STRAINER 1 1.0
TOTAL FABRICATION WEIGHT 10L. 4
PIPE LENGT:\
LENGTH SIZE
(MM) ¢ INCH
119 3
141 2
]
SPING DESIGNED N ACCORDANCE WITH ASME 831.3 2010 EDITION, CADO INDU STRIES INC CUSTONER: SENNWEST EXPLORATION
PIPE SPEC. (S WELD PROC:  CADO-S 4491 — 110 AVE SE, CALGARY, ALBERTA T2C 3BS ONIT NO- 2013-070-601
DESIGN PRESS.: 9376 KPAG RADICGRAPHY:  100% TEL: (403) 279-6662; FAX: (403) 279-6687 ;i
DESIGN TEMP.. 90 DEG. C PWHT: N/A ] MODEL: 4—WELL SEPARATOR SKID (BU-2000)
MDMIT: ~29 DEG. € PICKLE & Ol N/A LOOATON:
CA: 1.6 mm SANDBLAST: SP-56 :
cA I e ey —— — ; LINE. TAG: y—72100 WATER CQUTLET
TEST PRESS: 14064 KPAG | oANT: WARM. GREY 0 | SSUED FOR CONSTRUCHON IR -
TEST MEDW: WATER INSULATION: /A " no. | ATV SION e v o | apr | CRAMNG NO.: 070-14A g




Bili oFf MATIRIAL

MARY  SIZE DESCRIPTION Ty WEIGHT
i 3 PIPE, SMLS, BW, SCH 80, A106 GR B 352 MM 4.0
2 2 PIPE. SMLS, BW, SCH 8C, A1D6 GR B 1181 MM 89
3 2 TURBINE METER 53 MM 0.5
4 3x2 REDUCER, CONC, B4, SCH.80, A234 CR WPB ! 0.9
5 3 cLBOW, 90 DEG, LR, BW, SCH. 80, A234 GR 1 2.1
WPB
& 2 FLBON, 90 DEG, LR, BW, SCH. 80, A234 GR 2 .
WPB
7 3 FLANGE, RFWN, CL60C, SCH 80 BORE, ALOON 1 10,5
g 2 CUANGE, RFWN, CL60D, SCH. 80 BORE, ALGSN ! 16. 4
9 3 GASKET. CL60O SPIRAL WOUND, 316 SS/ ! 1.0
FLEXIBLE GRAPHITE
10 2 GASKET, CL60C SPIRAL WOUNL, 316 SS/ 2 2.0
FLEXTBLE GRAPHITE
11 3/4%127 ¢y STUD BOLTS W/ NUTS, A193 GR B7M / i 1.0
A1S4 GR 2HM
12 5/8%108 ¢g) STUD BOLTS W/ NUTS, A133 GR B7M / 2 2.0
AlS4 GR 2HM
N /0. TGTAL FABRICATION WEIGHT 50. 7
] Q L4 —
N | ‘
¢ | cuT PIPE LENGTH
PIECE  LENGTH SI1ZE
NOM (MM ¢ INCH)
8> 352 3
B 490 2
0 348 2
D> 343 2
83
CDNT'D
it QN N
"y, NEr
~ - LT 80
RN 13‘5‘7
\14C
DIPING DESIGNED N ACCORDANCE WiTH ASME B31.3 2010 EDITICN, CADO INDUSTRIES INC . CUSTOMER: DENNWEST EXPLORATION
PIPE SPEC €S WELD PROC. _ CADO- 749] — 110 AVE SE, CALGARY, ALBERTA T2C 3BS UNIT NO.- 3913-070-60
DESIGN PRESS. 9378 KPAG RADIOGRAPHY:  100% TEL: (403) 279-6662; FAX: (403) 279-6687
DESIGN TEMP: 90 DEG. € PWHT: N/A g | MODEL: A-WIiL SEPARATOR SKiD (BU-2000)
MOAT: 29 DES. ¢ PCKLE & O N/A E | LOCATION:
CA. 16 o SANSBLAST P8 I ! | -
o Sl AR 2 TR et L | e e 1-2107 WATER OUTLET
TIGT SRR (4084 KPAG DBAINT WARY GREY o S3LED TR CONSTRUCTICN LA i l NC .
e : : T g — T T s | DR M SERPRRS: LA
TEST OMEZA MATIR INSULATION: N/A T RTYIS0N | AT 3 Cmi | AFR - " T 1‘ J




31l OF MATERIAL

MARK  S1ZE JESCRIPTION Ty WEIGHT
i 2 piPE, SMLS, BW, SCH. 80, A106 GR 3 171 MM 1.3
2 32 REDUCER, CONC, BW, SCH. 80, A234 GR WP3 ! 0.9
3 3 SLEED RING, RF, 600#, RF, 2lmm HOLE 1 1.0
4 3 FUANGE. RFWN, CL6DC, SCH 80 BORE, ALUSN 1 10.5
5 2 “UANCE. RFWN, CL60C, SCH. 80 BORE, A105N | 5.5
(e 6 3 GASKET, CL600 SPIRAL WOUND, 316 SS/ 3 3.0
LUEN FLEXTBLE GRAPHITE
Oy ¢ 7 2 GASKET, CLG60G SPIRAL WOUND, 315 SS/ 1 1.0
by FLEXIBLE GRAPHITE
8 3/4X171 (8> STUD BOLTS W/ NUTS, A193 GR B7M/ | 1.0
A194 GR 2HM
3 3/4x127 (g STUD BOLTS W/ NUTS, A193 GR B7M/ ! 1.0
AL94 GR 2HM
10 3 VALVE. BALL. RP, RF, NACE, CLASS 600 1 38. 6
ASME, A3O0SN
1t 3 CONTROL VALVE, FISHER ET, 600L3 FLE, RF ! 1.0
TOTAL FABRICATION WEIGHT 64. 5
‘ CUT PIPE LENGTH
o1ZCE  LENGTH SI7E
NUM ( MM { INCH?
{ad 171 2
PPE SPEC: _ ©5 WELD PROC.  CADO-3 491 - 110 AVE SE, CALGARY, ALBERTA T2C 3BB UNIT NO- 2013-070-601
DFSIGN PRESS.: $376 KPAG RADIOGRAPHY:  100% © TEL: (403) 279-6662; FAX: (403) 279-6687 =
DESIGN TEMP.. 90 0€5. C | PWHT: N/A | | | MODEL: 4—WELL SEPARATOR SKID (BU-2000)
MOMT: 29 DEG. € SICKE & O N/A | ! } 1 LGCATION:
e T T - | |
CA 16 T SANDBLAST: SP-8 | 1 ‘ - -
A teom  |SWORR _ | | L WETG /~2100 WATER OUTLET
T£57 PRESS: 14084 KPAG | PANT: WARM GREY G | 1SSUED TOR SONSTRLSTCN Dyl owe W L We |
e = T AT . P ~ — Raeveeans e i Ryspa R EDEUAS N S70-140 R
(237 MIDi WATZR l INSULATION: N/A MO RN syt 3y CRK APR - 1 v 3




MARK  SIZE DESCRIPTION QrY  WEIGHT
.
o 1 2 PIPE, SMLS, BW, SCH. 80, ALO6 GR 3 189 MM 1.5
P 2 32 TEE. RED, BW, SCH 80, A234 CR WPB 1 2.2
o 3 2 ELBOW, 90 DEG, LR, BW, SCH, B0, A234 R i 0.9
WPB
4 3 FLANGE, RFWN, CL600, SCH.48”BORE, ALOSN 2 20. 9
5 3 GASKET, CL600 SPIRAL WOUND, 316 SS / 4 4.0
FLEXIBLE GRAPHITE
6 3/4%127 (8) STUD BOLTS W/ NUTS. AI93 GR B7M / 4 4.0
A194 GR 2HM
7 3 VALVE SWING CHECK, RF, NACE, CLASS 600 ! 61.3
ASME, A10SN
8 3 VALVE, BALL, RP, RF, NACE, CLASS 600 ! 38. 6
ASME, ALOSN
_ FABRICATIGN WEIGHT 133. 2
@ 4
EL +384 g,
\\\\‘\»\;£"4 ! CUT PIPE LENGTH
zﬁ PIECE LENGTH S1ZE
% NUM (MM) C INCH>
A 48 2
(B 141 2
g
o\ 2
. g
Iy
N SFE
B
URY
0. g
qu e
* "(‘:,\. b
L
G318 0 |
N :EET
SPIG DESGNED IN ACCORDANCE WITH ASME B831.5 2010 EDITION, CADO INDUSTRIES INC. CUSTOMER: SENNWEST EXPLORATION
PEC. N ADO-5 -
PIPE SPEC..  CS WELD PROC.  CADO-> 4491 — 110 AVE SE, CALGARY, ALBERTA T2C 388 UNT NO- 2013-070—601
DESICN PRESS.. 9376 KPAG RADIQGRAPHY:  100% TEL: (403) 279-6662; FAX: (403) 279-6687
) . T Fi- Wl SF A ; _
DESIGN TEMP.: 90 DEG. C PWHT. N/A | MODEL: L1_WELL SEPARATOR SKID (BU-200C)
MOMT: 29 BEG. C PICKIE & O N/A | 1 LOCATION:
I N
CAL 1.5 mm ;SANDBU‘\DI‘. SP-8 | ! . — ; l i t . UNE TAS: V-2407 WATER QUTLET
TEST PRISS: 14364 KPAD . PAINT: WARM GRZY 5] SSUED FOR CONSTRUCTION sy A2 NG L —-
: T ' i I SI0N - ; ~aTS T N I8 '—.\'P-.-\'*\‘H.\IG N3 '\7’\—1:',‘_\ !RE\'H
TEST MEDA: Ha7IR DINSULATION: MA NG, PTVISION IS A R - VA it O AFR T :

BILL [F MATERIAC

puniSherie




g

BILL OF MATERIAL

MARK  SIZE NESCRIPTION QiY  WEIGHT
1 2 PIPE, SMLS, BW, SCH. 80, A106 GR B 3085 MM 228
2 2 CUBOW, 90 DEG, LR, BW, SCH. 80, A234 CR 3 2.7
WPB
3 2 FLANGE, RFWN, CL600, SCH. 80 BORE, ALOSN 1 5.5
4 2 GASKET, CL600 SPIRAL WOUND, 316 SS/ 1 L0
FLEXIBLE GRAPHITE
5 S/ex108 (@ STUD BOLTS W/ NUTS. A193 GR B7M / 1 1.0
A194 GR 2HM
6 2 VALVE. GLOBE, RF, NACE, CLASS 600, ASME. | 409
A105N
A3 AN TOTAL FABRICATIGN WE [GHT 73.7
7@ 292
| Q | cuT PIPE LENGTﬂ
A
o PIECE LENGTH SIZE
| b o NCM (M) ¢ INCHD
T <26
. N (A 1939 2
"7/“ éLf : I;QH B 320 2
(A) @ . \QN 8‘
Q SPINDLE E£45 U45 ~ Yige,
U3,
v,
M-
v
30" -
20
ge!
s
i UN
(& 75
SIPING DESIONED IN ACCORDANCE WITH ASME B31.3 2010 EDITION, CADO INDUSTRIES INC. CUSTONER: SENNWEST EXPLORATION
PPE SPEC.  CS WELD PROC.  CAOO-3 +491 - 110 AVE SE, CALGARY, ALBERTA T2C 3BB ONIT NO- 2013-070-80!
DESIGN PRESS. 9376 KPAG RADIOGRAPHY:  100% TEL: (403) 279-6662; FaX: (403) 279-6687 '
0ESIGN TEMP.: 90 DEG. C PWHT: N/A MODEL: 4—WELL SEPARATOR SKID (BU-2000)
MOMT: ~23 DEG. C PICKLE & Ol N/A | OoATION:
CA 1.6 mm SANDBLAST: SP-6 '. ' L LUNE TAG: V=100 WATER QUTLET
TEST 35S, 14084 KPAG DANT: WA R 5 | SSUED FOR CONSTRUCTON st we | W | uC =
TEST WD WATER NSuLATON N/ o Z0A30N IR SRNHING NO. ATy AT R

i



3ILL OF MATERIAL

MARK  SIZE DESCRIPTION QTY  WEIGHT
3 PIPE, SMLS, BW, SCH. 80, Al06 GR B 119 MM 16
o 2 IPE. SMLS, BW, SCH. 80, Al06 GR B 141 MM 1.0
Ny 3x2 [eE, RED, BW, SCH. 80, A234 GR WPB | 2.2
3X1/2 TEREDCLET, CL3000, A!OSN 1 c.2
2 CLBOW. 90 DEG, LR, BW, SCH. B3, A234 (R { 0.9
WP3
3 FLANGE, REWN, CL60O, SCH. 80 BIRE, ALOSN 2 41.8
2 CLANGE, RTWN, CL600, SCH. 80 BORE, ALOSN ) 5,5
3 GASKET, CL60D SPIRAL WOUND, 316 SS/ 3 3.0
FLEXIBLE GRAPHITE
2 CASKET, CL60Q SPIRAL WOUND, 316 SS/ ! 10
FLEXIBLE GRAPHITE
10 3/4x127 (8 STUD BOLTS W/ NUTS, A193 GR B7M / 3 3.0
A194 GR cHM
5/8X108 (@) STUD BOLTS W/ NUTS, A193 GR B7M / | {0
A194 GR 2HM
12 3 VALVE. BALL, RP, RF, NACE, CLASS 600 1 38. 6
ASME, AICSN
13 3 Y-STRAINER | 1.0
TOTAL FABRICATION WEIGHT 101 4
CUT PIPE LENGTQ_]
PIECE  LENGTH S1ZE
NUM CMMD ¢ INCH>
(A 119 3
B 141 2
SomG DESGNZD i ACCORDANCE WITH ASME B31.5 2010 EDITION, CADO INDUSTRIES INC. | CUSTONGR: SENNWEST EXPLORATION
PPE SPEC.  ©5 WELD PROC:  CADO-9 7491 — 110 AVE SE, CALGARY, ALBERTA T2C 3BB T NG 2013-070-601
DESIGN PRESS.. 9376 KPAG RADIGGRAPHY:  100% TEL: (403) 279-6662; FAX: (403) 279-6687
w PWHT: N/A \ { MODEL: A—WELL SEPARATOR SKi (BU—2000)
MDVIT: 99 DEG. C PICKLE & Ol:  N/A | | | ACATION:
- 15 mn SANCBLAST;  SP-6 ' ' ’ — R ——
T R 0. S— 1 TN S \ - | LNE A 4-2200 WATER QUILET
727 PRESS: 12354 KPAG PANT: WARM GREY Y l 1SSUED TOR SONSTRUCTON [‘.f;'r}/ miloap 1owWe N 1
: - i —— T - - —= a2y NG N ~TA 1A RV,
TOGT MIDIA: WATZR LNSULATION: N/A 1 M BEVIRTOH DR |37 | CHX A7R St Vo el .

]




e

PIPE SPEC.:
DESIGN PRESS.
DESIGN TEMP.:
MOMT:

7257 PRESS.

25T OMIZA

507

PIPING DESIGNED IN ACCORDANCE WITH ASME 331.3 2010 ECTION,

WELD PROC..  CADO-5
RADIOGRAPHY:  100%
N/A
N/A

WARM GREY

NA

BILL T MATIRIAL

MARK STZE DESCRIPTION EII W IGRT
1 3 PIPE, SMLS, BW, SCH. 80, A105 GR B 352 MM 4.0
Z 2 PIPE, SMLS, BW, SCH. 80 A105 GR B 1181 MM 8.9
3 c TURBINE METER 653 MM 0.5
4 3%2 REDUCER, CONC, BW, SCH. 80, A234 GR WPB 1 0.9
3 3 CLBOW, 90 DEG, LR, BY. SCH. 8C, A234 GR 1 2.1
WPB
6 2 FLBOW, 90 DEG, LR, BW, SCH. 80, A234 GR 2 1.8
WPB
7 3 FLANGE, RFWN, CL6OO, SCH. 80 BORE, ALOON It 10. 5
B8 2 FLANGE, RFwN, CL60O, SCH 8C BORE, AIOSN 1 16. 4
G 3 GASKET, CL600 SPIRAL WwOUND, 316 SS / | 1.0
FLEXIBLE GRAPHITE
10 GASKET, CL600 SPIRAL WOUND, 315 SS 7/ e 2.0
FLEXIBLE GRAPHITE
1t 3/4X127 (8) STUD BOLTS W/ NUTS, A1S3 GR B7M / 1 1.C
A194 GR 2HM
12 5/8X108 (g) STUD BOLTS W/ NUTS, A1S3 GR B7M / 2 2. Q
A194 GR 2HM
154 TOTAL FABRICATION WEIGHT 507
CUT PIPE LENGT;F]
[5CE  LENGTH SIZE
NUM ¢ MMY ¢ INCH
CAY 352 3
(B> 490 2
C> 348 2
1) 343 e
N
SHE#
N
. Yy
~. 0
0y
R
CADO INDUSTRIES INC. CUSTOMER: DENNWEST EXPLORATION
7491 — 110 AVE SE, CALGARY ALBERTA T2C 3BB - ~
! ' UNIT NO.: 70—
TEL: (403) 279-6662; FAX: (403) 279-6687 JL 2015-C 60"
' MODEL: STl SEPARATOR SKID (BU-2000)

A

o

. H 1
R R I

LOCATICN:

]
' UNE TAG: Y2250 WATER OUTLct

—_—e— e

1
n
LL}




BILL OF MATERIAL
vARK  SIZE DESCRIPTION QTY  WEIGHT
1 2 PIPE, SMLS, BW, SCH B0, AIC6 GR B 170 M4 1.3
d 32 REDUCER, CONC, BW, SCH. 80, A234 GR WPB 1 0.9
3 3 BLEED RING, RF, 600#, RF, 2lmm HOLE ! 1.0
4 3 FLANGE, RFWN, CL600, SCH. 80 BORE, ALOSN 1 10.5
5 2 FLANGE, RFWN, CLGOO, SCH. 80 BORE, ALOSN 1 5.5
6 3 GASKET, CL600 SPIRAL WOUND, 316 SS /7 3 3.0
FLEXIBLE GRAPHITE
7 2 GASKET, €L600 SPIRAL WOUND, 316 SS / 1 1.0
FLEXIBLE GRAPHITE
8 3/4X171 (8 STUD BOLTS W/ NUTS, A193 GR B7M / ; 1.0
4194 GR 2HM
9 3/4X127 ¢g) STUD BOLTS W/ NUTS, A193 GR B7M / 1 1.0
A194 GR 2HM
1o 3 VALVE, BALL, R®, RF, NACE, CLASS 60C 1 38. 6
ASME, ALOSN
U 3 CONTROL VALVE, FISHER ET, 600LB FLG. RF ! 1.0
TOTAL FABRICATION WEIGHT 645
[7CUT PIPE LENGTH
PIECE LENGTH SIZE
NUM (MM ¢ INCH)
(A 171 2
PIPING DESIGNED N ACCORDANCE WITH ASME 831.3 2010 EDITION, CADO INDUSTRIES INC T GUSTOMER: DENNWEST EXPLORATION
PPE SPEC: €5 WELD PROC. _ CADO-> 4491 — 110 AVE SE, CALGARY, ALBERTA T2C 3D8 ONIT NO.: 2013-070-50]
DESIGN PRESS.: 9376 KPAG RADIOGRAPHY:  100% TEL: (403) 279-6662; FAX: (403) 279-6687 ,u .
DESIGN TEMP. 90 DEG. € PNHT: N/A 1 MODEL: 4L~WELL SEPARATOR SKID (BU-2000)
MOMT: ~29 DEG. © PICKLE & Ol N/A | LOCATION:
~ 5 ANDBLAST: 5P -8 | — -
CA: 1.8 mm SANDBLAS . i UINE TAG: V-2200 WATER CUTLE!
TEST PRESS. 14084 KPAS | PAINT: HARM GREY |0 [1SSUED 7OR CONSTRLLT SN fupymisg A L We ) W P
TEST MIDA WER TNSULATON. N/A ) 207300 TR R 770-150 |




PIPING DESIGNZD
PIPE SPEC.
DESIGN PRESS.
DESIGN TEMP.:
MOMT:

7287 PRESS:

TTST MIDA

D e gf‘;
\\\\\\\;’,14
7%
ol ¢
i
W o
SﬁEET 01
3\0? N 178
N
CL""‘EE“‘. 4 L
]Z :
_2(?2
(456

IN ACCORDANCE WITH ASME 831.3 2010 EDITION,

€S WELD PROC.: CADO-3

RADIOGRAPHY:  100%
PWHT: N/A

9376 KPAG
30 0EG. C

~29 DEG. ¢ PICKLE & Ol N/A

- T——

| SANOBLAST:  SP-B

14384 KOS

WATER CINSLATON:  N/A

L OANT: WARM OREY

je
—
]

&

MATERIAL

waRK  SIZE PESCRIPTION QrY  WEIGHT
)
7045t 1 2 PIPE, SMLS, BW, SCH 83, A105 GR B g9 MM L9
A3,C 2 TEE, RED, BYW, SCH. 80, A234 GR WP3 l 2.2
13“1 3 2 fLBAW, 90 DEG, LR, BW, SCH,80. A234 CR 1 0.9
it WeB
N 4 3 FLANGE, RFWN, £L600, SCH.48 BORE, ALOSN 2 20. 9
nNTD,’ 5 3 GASKET, CL600 SPIRAL WOUND, 316 SS/ 4 4.0
oM FLEXIBLE GRAPHITE
e 5 3/4X127 (8 STUD BOLTS W/ NUTS, A1S3 GR B7M/ 4 4.0
A194 GR 2HM
7 3 VALVE. SWING CHECK, RF, NACE, CLASS 600 ! 61.3
ASME, ALOSN
8 3 VALVE, BaLL, RP, T, NACE, CLASS 600 1 38. 6
ASME, ALDSN
TATAL FASRICATION WEIGHT 133. 2
L_EUT PIPE LENGT;~]
PIECE LENGTH SIZE
NUM (MM ¢ INCH
(A 48
B 141

359

CADO INDUSTRIES INC.

~491 — 110 AVE SE, CALGARY, ALBERTA T&C 3B8
TEL: (403) 279-6662; FAX: (403) 279-6687

CUSTOMER:

PENNWEST EXPLORATION

UNIT MO

2013-070-601

WMODEL:

| 1SSUED FCR CONSTRUCTION

: t
| V130N DA v AR

LOCATION:

4—§ELL SEPARATOR SKID (BU-2000)

LINE TAD

DRANNG N

y-2200 W

(%




BiLL OF MATERIAL
MARK  SIZE DESCRIPTICN o7y WEIGHT
1 2 PIPE, SMLS, BW, SCH 80, Al06 GR B 3085 MM 22.8
2 2 cLBOVY, 90 DEG, LR, BY, SCH. 80, A234 (R 3 2.7
WPB
3 2 FLANGE, RFWN, CL60D, SCH. 80 BORE, ALOSN 1 5.9
4 2 CASKET, CL600 SPIRAL WOUND, 316 SS / ! 1.0
FLEXIBLE GRAPHITE
5 s/x108 (8 STUD BOLTS W/ NUTS, AL93 GR B7M/ 1 1.0
A194 GR 2HM
5 2 VALVE. GLUBE, RF, NACE, CLASS 600, ASME. i 40.9
79 ALOSN
4 7
*[IP~LEY 3%y TOTAL FABRICATION WEIGHT 737
437@ ‘ 252
0 o Lcm PIPE LENGTH
I3 X A
PIECE LENGTH SIZE
TS 58 NUM MM ¢ INCH)
S| > 1939 2
. % 320 2
7( ana m / l;‘-:#‘ CGNT, (g 8e6 2
® Dy
T O SPINDLE £45 U4S ~< Vg
‘ ‘ ¥, a
'A: o,
134
?5
50 .- "B
,3,070/,1’, /
(o
g
&
il
(7 75
PTG DESIGNED N ACCORDANCE Wi ASME 831.3 2010 EDIMON, = CADO INDUSTRIES INC. CUSTONER STNNWEST EYPLORATION
PPE SPEC.. €S WELD PROC:  CADO-S 4491 - 110 AVE SE, CALGARY, ALBERTA T2C 3BO N NG 5013-070-60"
DESIGN PRESS.: 9376 KPAG RADIOGRAPHY:  100% TEL: (403) 279-6662; FAX: (408) 279-6687 '
DESIGN TeMP. 30 DEG. © PWHT: N/A \ MODEL: A—WELL SEPARATOR SKID (BU-2000)
MDMT: -29 DEG. € PICKLE & OiL:  N/A LOCATION:
CA: L6 mm .SANDBLAST: SP-5 | LINE TAG: V2200 WATER QUTLET
TEQT SRESS. 14064 XPAG | PAINT: WARM OREY "¢ | 'SSUED FOR CONSTRUCTION njci] e W | e =
ST WEDI WATER CNSUATON. A b ona. | REVISION Do Lo | o | MR CRAMNG N TTC-05E D




BiLL OF MATERIAL

MARK  SIZE DESCRIPTION 1Y WEIGHT
1 3 PIPE, SMLS, BW, SCH. 80, Al06 GR B 119 MM 3.6
Con 2 2 PIPE, SMLS, BW, SCH.80, A106 GR B 141 MM 1.0
T'D 3 X2 TEE, RED, BW, SCH. 80, A234 GR WPB L 2.2
U 4 3%1/2 THREDOLET, CL3000, ALGSN 1 0.2
Mgy 5 2 €LBOW. 90 DEG, LR, BW, SCH. 80, A234 GR 1 0.9
2 WPB
~Fllﬂ7 6 3 FLANGE, RFWN, CL600, SCH. 80 BORE, ALOSN 2 41,8
G 7 2 FLANGE. RFWN, CL600, SCH. 80 BORE, ALOSN | .5
~ .98 8 3 GASKET. CL600 SPIRAL WOUND, 316 SS 7/ 3 .0
S FLEXTBLE GRAPHITE
i 5 2 GASKET, CL600 SPIRAL WOUND, 316 SS / 1 1. 0
i FLEXIBLE GRAPHITE
10 19 3/4X127 (8) STUD BOLTS W/ NUTS, A193 GR B7M / 3 3.0
A194 GR 2HM
i1 5/8%108 (8) STUD BOLTS W/ NUTS, A193 GR B7M / 1 1.0
A194 GR 2HM
12 3 VALVE. BALL, RP, RF, NACE, CLASS 600 | 38. 6
ASME, A10SN
13 3 Y-STRAINER 1 1.0
TOTAL FABRICATION WEIGHT 101 4
CUT PIPE LENGTH
PIECE LENGTH SIZE
NUM MM ¢ INCH>
(A 119 3
B 141 2
PIPING DESIGNED N ACCORDANCE WITH ASME 8313 2010 EDITION, B CADO INDUSTRIES INC. CUSTOMER: PENNWEST EXPLORATION
PIPE SPEC. ~ CS WELD PROC..  CADO-S B ~491 — 110 AVE SE, CALGARY, ALBERTA T2C 3B8 UNIT NO- 2013-070-601
DESIGN PRESS.. 9376 KPAG RADIOGRAPHY:  100% TEL: (403) 279-6662; FAX: (403) 279-6687
DESIGN TEMP: 90 DEG. C PUHT: N/A MODEL: 4—WELL SEPARATOR SKID (BU-2000)
MM -29 DEG. C PICKLE & OiL: N/A LOCATION: '
- 5 m SANDBLAST:  SP-8 , — -
CA: .0 mm it ° UNE TAG: V2300 WATER QUTLET
TEST PRESS. 14064 KPAG PANT: WARM GREY 0 | I1SSUED FOR CONSTRUCTION w3l oA | owe | We =
TEST MEDIA:  WATER |NSULATION: /A PO, 273N e N I I NO.: 975-1cA I




BiLL OF MATERIAL

MARK  S1ZE DESCRIPTION Ty WEIGHT
] 3 prpc. SMLS, BW, SCH. 80, Al06 CR B 352 MM 4.0
2 2 PIPE. SMLS, B, SCH. BQ, ALD6 GR B 1181 MM 8.9
3 2 TURBINE METER 63 MM 0.9
4 3%2 REDUCER, CONC, BV, SCH.8C, A234 GR WPB ! 0.9
5 3 CLBOW, G0 DEG, LR, BwW, SCH. 80, A234 (R 1 2.1
WP3
6 2 ELROV. 90 DEG, LR, BW, SCH 80, A234 OR 2 1.8
WPB
7 3 FLANGE, RFWN, CL60O, SCH 80 BORE, ALOSN 1 10. 5
8 2 FLANGE. RFWN, CL600, SCH. 80 BORE, ALOSN ! 16. 4
S 3 CASKET. CL600 SPIRAL WOUND, 316 SS/ ! 1.0
FLEXIBLE GRAPHITE
10 2 GASKET. CL600 SPIRAL WOUND, 316 SS/ 2 2.0
FLEXIBLE GRAPHITE
1Y 3/4%127 gy STUD BOLTS W/ NUTS, A193 GR B7M / 1 1.0
AL94 GR 2HM
12 5/8X108 (gy STUD BOLTS W/ NUTS, A193 GR B7M / 2 2.0
AL94 GR 2HM
S TOTAL FABRICATION WEIGHT 50. 7
[ @ 94 —_—
Q L4§UT PIPE LENG%;FW
PIECE  LENGTH SIZE
NUM {MM) ¢ [NCHD
<A 352 3
(B> 490 E
> 348 2
(D> 343 2
CDNT'B
1 QN 1y
‘e #, HE'\T a
- - N 4 01
~ - 3‘-[]7‘\\1 )
iac
SPIG DESIGNED IN ACCORDANCE WITH ASME 8313 2010 EDITION, CADO INDUSTRIES INC. CUSTOMER: DENNWEST EXPLORATION
PPE SPEC:  © WELD PROC..  CADO-Y 7491 — 110 AVE SE, CALGARY, ALBERTA T2C 3BS UNT 8O- 2913-070-601
DESIGN PRESS. 9376 KPAG RADIOGRAPHY: 1007 TEL: (403) 279-6662; FAX: (403) 279-6687
DESICN TEWP.. 90 DEG. © PWHT: N/A 1 \ ! MODEL: 4—WELL SEPARATOR SKID (BU-2000)
O: ~29 DEG. ¢ DICKLE & OfL:  N/A l ! LOCATION:
- 16 SANDBLAST:  SP-6 | ‘ ! - N .
a8 E,/ _ R L | iz o V2300 WATER OUTLET
14084 KPAG PAINT: WARM GREY SSUET FOR CONSTRUCTION Canyamy| oA | WS | WO pe
TEST MEDA WATER IINSUATON: N/ A0VISON C I | 8¢ | O [Taer | BT (AR 072-163 R




BiLL OF MATERIAL
MARK  SIZE DESCRIPTION Ty WEIGHT
] 2 PIPE, SMLS, BW, SCH. 80, Al06 GR B 171 MM 13
2 3%2 REDUCER, CONC, BW, SCH. 80, A234 GR WPB | 0.9
3 3 BLEED RING, RF, 6004, RF, 2lmm HOLE 1 1. G
4 3 FLANGE, RFWN, CL600, SCH. 80 BORE, ALOON 1 10. 5
5 2 FLANGE, RFWN, CL600, SCH. 80 BORE, AlOSN ! 5.5
6 3 GASKET. CL600 SPIRAL WOUND, 316 SS / 3 30
FLEXIBLE GRAPHITE
7 2 GASKET, CL600 SPIRAL WOUND, 316 SS / 1 1.0
FLEXIBLE GRAPHITE
8 3/4%171 (g STUD BOLTS W/ NUTS, A193 GR B7M / 1 1. 0
A194 GR 2HM
9 3/4X127 (8) STUD BULTS W/ NUTS, A193 GR B7M / } 10
4194 GR 2HM
10 3 VALVE. BALL, RP, RF, NACE, CLASS 600 1 38. 6
ASME, ALOSN
1y 3 CONTROL VALVE, FISHER ET, 600LB FLG, RF ) 1.0
TOTAL FABRICATION WETGHT 64. 5
CUT PIPE LENGTQA)
PIECE LENGTH SIZE
NUM ¢ MM ¢ INCH>
<A? 171 e
PIPING DESIGNED N ACCORDANCE WTH ASME B31.3 2010 ECITION, CADO INDU STRIES INC. CUSTOMER: PENNWEST EXPLORATION
PIPE SPEC. €S WELD PROC:  CADO-3 | 4491 — 110 AVE SE, CALGARY, ALBERTA T2C 3B8 UNTT NO.: 2013-070-601
DESIGN PRESS. 9378 KPAG RADIOGRAPHY:  100% TEL: (403) 279-6662; FAX: (403) 279-6687
DFSIGN TEMP.. 90 DEG. C PWHT: N/A MODEL: 4-WELL SEPARATOR SKID (BU-2000)
WMOMT: 729 DEG. C PICKLE & il N/A LOCATION:
CA; 15 mm SANDILAST:  SP- — ————
L — ; | i . LINE TAG: V—=2300 WATER QUILLI
TeST PRESS.  140B¢ KPAG BANT: WARM GREY 0 | 1SSUTD FOZ CONSTRULTON nigjas| A oW We
- T \ b IUN o AT A, LE:‘-,"
TS MO WATRR ThSdoTon: N NG 22,30 SRR R N 073-186C A




T
Hojl
Z

L OF MATIRIAL

waz SIZE SESCRIPTION QY WEIGHT
.
o 1 2 PIPE, SMLS, BW, SCH. 80, Al0O6 GR B 189 MM 1.5
3,@“ 2 3%2 TEC, RED, BW, SCH. B0, 4234 GR WPB i 2.2
ngﬁl 3 2 €U80W, 90 DEG, LR, BW, SCH. 80, A234 (R ! 0.9
{ WPB
[
gNsH 4 3 FLANGE, RFWN, CL60C, SCH. 80 BORE, AIGON 2 20. 9
oD% 5 3 GASKET, CL600 SPIRAL WOUND, 316 SS/ 4 4.0
o FLEXIBLE GRAPHITE
e 6 3/4X127 (8 STUD BOLTS W/ NUTS, AL93 CR B7M/ 4 4.0
| Al94 GR 2HM
oe 7 3 VALVE, SWING CHECK, RF, NACE, CLASS 600 ! 61.3
ASME, A105N
C:) 8 3 VALVE, BALL, RP, RF, NACE, CLASS 600 ! 8.6
8 ASME, A105N
TOTAL FABRICATION WEICHT 133. 2
3 "l
L +384 P()Jl .
\\\\‘\H\(f"’q | CuT PIPE LENGTH
PIECE  LENGTH SIZE
S NUM MM ¢ INCH)
\-
N ay 48 2
— (B 141 2
[t
w
355
CDNT,
R
PRUEN
Mt
N
-~ 58
SONG DESIGNZD N ACCORDANCE WITH ASME 833.5 2010 EDITION, CADO IN DUSTRIES INC. CUSTOMER: SENNWEST EXPLORATION
PIPE SPEC:  CS WELD PROC..  CADO-S 7491 - 110 AVE SE, CALGARY, ALBERTA T2C 3BO UNIT NO- 2013-070-801
DESIGN PRESS.: 9378 KPAG RADIOGRAPHY:  100% TEL: (403) 279-6662; FAX: (403) 279-6687
" ‘ i A_WEIL S T W] -
DESIGN TEMP.. 90 DEG. C PWHT: N/A i MODEL 4-WELL SEPARATOR SKID (BU-2000)
MOMT: -29 0g6. € PICKLE & OIL:  N/A LOCATION:
s : !
CA 1.6 i SANDBLAST:  5P-§ l LINE TAG: /-2300 WATER QUTLET
7757 PRESS: 14054 PG rPAiNT: 'WARM GREY 0 1SSLES FOR CONSTRUCTION APERI PR B WG WE —
S P ! e g T Taon | CRAWNG N3 AT 1A IRV,
TEST MIDiL o WATER | iNSUATION: N/A NO. RV SION PoozAT 3 ] ORK 37R ST | v

L.



Bl OF MATERIAL

MARK  SIZE DESCRIPTION QT WEIGHT
1 2 PIPE, SMLS, BV, SCH. B0, A106 GR B 3085 MM 22.8
2 2 ELBOW, 90 DEG, LR, BW, SCH. 80, A234 (R 3 2.7
WPB
3 2 FLANGE, RFWN, CL600, SCH. 80 BORE, ALOSN 1 5.5
4 2 GASKET, CL600 SPIRAL WOUND, 316 SS/ 1 1.0
FLEXIBLE GRAPHITE
5 5/6X108 (8 STUD BOLTS 4/ NUTS, A193 GR B7M/ 1 1.0
194 GR 2HM
6 2 VALVE. GLOBE, RF, NACE, CLASS 600, ASME, | 40.9
ALOSN
479 [ - -
F17 LATA TOTAL FASRICATION WEIGHT 73.7
: CUT PIPE LENGTH
Ny
, PIECE LENGTH SI1ZE
TR xXZ LW NUM MM ¢ INCHD
N| > 1939 2
; &% B 320 2
( -, i R UN
& é SPINDLE E45 U4S ~~ Y,
R 20
97 13
: \
AU Mg,
4 /®
0!
re
gt
o
0 75
SIPIG DESIGNED IN ACCORDANCE W+ ASME B31.3 2010 EDITON, CADO INDUSTRIES INC CUSTONCR: SENNWEST EXPLORATION
PPE SPEC:  ©5 WELD PROC.  CADO- _ 110 AVE SE, CALGARY, ALBERTA T2C 3BB GNIT NO- 2013-070-601
DESIGN PRESS. 9378 KPAG | RADIOGRAPHY:  100% TEL: (403) 279-6662; FAX: (403) 279-6687 -
DESIGN YEMP. 30 DEG. £ PHHT: N/A MODEL: L1—WELL SEPARATOR SKID (BU-2000)
MDMT: ~23 DEG. € PICKLE & Ol N/A LOCATION:
!
' 5 mr SANDALAST  SP-6 —
CA 15 mm SANDBLAS : ‘ — — { LND TAG: V2300 WATER QUT.E!
TEST SRESS:  1ADB4 KEAS | HARM GREY 0 Tissumd f0R CONSTRUCTC Cpeanyy e WS | W .
| - e —— —— e — L . ! o _ o
T Uy e IS T . T e | amn | DWRS N 70— 157 ERAN
237 MEDWN WATZR | INSULATOMN: N/A SDESON fooove I Thd boARR WL i




MARC  SIZEZ DESCRIPTION QrY  WEIGHT
1 3 51PE, SMLS, BW, SCH. 80, AlD6 GR B 119 MM 36
0 2 2 PIPEC. SMLS, BW, SCH.8C, ALO6 GR B 141 MM 1.0
NT'D 3 3X2 TEE, RED, BW, SCH. 80, A234 GR WPB 1 2.2
Oy 4 K1/2 THREDOLET, €L3000, ALOSN 1 0.2
S 3 2 FLROW. 90 DEG, LR, BW, SCH. B0, A234 (R 1 0.9
L WPB
\?1&ﬂ? 6 3 FLANGE, RFWN, CL60D, SCH.80 BORE, ALOSN 2 41. 8
~ . 7 2 FLANGE. RFWN, CL600, SCH. 80 BORE, ALOSN 1 5.5
<
~ B g 3 GASKET, CL600 SPIRAL WOUND, 316 S§/ 3 3.0
e FLEXIBLE GRAPHITE
R 2 GASKET, CL600 SPIRAL WOUND, 316 S8/ 1 1.0
i FLEXIBLE GRAPHITE
10 374X127 ¢3) STUD BOLTS W/ NUTS, A193 GR B7M / 3 3.0
A194 GR 2HM
1 5/8%108 (8) STUD BULTS W/ NUTS, A193 GR B7M / ! 10
A194 GR 2HM
12 3 VALVE. BALL, RP, RF, NACE, CLASS 600 1 38. 6
ASME, A10SN
13 3 Y-STRAINER 1 1.0
TGTAL FABRICATION WEIGHT 101. 4
| cut eiPE LENG%E?]
PIECE LENGTH SIZE
NUM { MM ¢ TNCH:
Ay 119 3
<3 141 2
SIPING DESIGNED IN ACCORDANCE WITH ASME 831.3 2010 EDITION, CADO INDUSTRIES INC. CUSTOMER: SENNWEST EXPLORATION
PIPE SPEC. G5 WELD PROC:  CADO-3 7491 - 110 AVE SE, CALGARY, ALBERTA T2C 3B8 UNIT NO- 2013-070-601
DESIGN PRESS.. 9376 KPAG RADIOGRAPHY:  100% TEL: (408) 279-6662; FAX: (403) 279-66887
MOMT: -3 DEG. C PICKLE & Ol:  N/A ! o LOGATION:
: 1.6 SANCBLAST: SP-6 T - —
CA: § mm NCBLAS _ — | LINE TAG: V=2400 WATER OUTLEI
7657 PRESS.: 14084 KPAD DAINT: WARM GREY a1 ISSUED FOR SONSTRUCTON Pl A7 NC NC e —
7 - - : | ANING MO 1 17 ReY.
57 MEDIA,  WATER NSULATON. /A 0. | TSN | 3 0 e | ARR DRANING N0 070-174A | 9

BILL DF MATERIAL




57 OF MATERIAL

Mgy SIZZ DESCRIPTION gTY  WEIGH
1 3 PIPE, SMLS, BW, SCH 80, ALOS GR B 352 MM 4.0
2 2 e1PE, SMLS, BW, SCH.80. 4106 CR 3B g1 M4 8.9
3 2 TURBINE METER 63 MM 0.3
4 3x2 REDUCER, CONC, BW, SCH.80, A234 GR W°3 1 0.9
5 3 FLBOW., 90 DEG, LR, BW, SCH. 80, A234 (R 1 2. 1
WPB
3 2 FLBOV, 90 DEG, LR, BW, SCH 80, A234 (R 2 1.8
WPB
7 3 FLANGE, RFUN, CL600, SCH. 80 BIRE, ALOSN 1 10. S
8 2 FLANGE, RFWN, CLG00, SCH. 80 BORE, ALOSN 1 16. 4
S 3 GASKET, CL600 SPIRAL WOUND, 316 SS 7 ! 1.0
FLEXIBLE GRAPHITE
10 2 GASKET, CL600 SPIRAL WOUNL, 316 SS/ 2 2.0
FLEXIBLE GRAPHITE
14 3/4x127 (g) STUD BOLTS W/ NUTS, A193 GR B7M / 1.0
A194 GR 2HM
12 s,ax108 (8> STUD BOLTS W/ NUTS, AL93 CR B7M/ 2 2.0
A194 GR 2M
S Oy TOTAL FABRICATION WEIGHT 50. 7
% 4 A
@
S CUT PIPE LENGTQAW
PIECE LENGTH SIZE
NOM MM ¢ INEH)
A 352 3
(B 490 2
(C> 348 2
D> 343 2
\I?C
SPING DESONED N ACCORDANCE WITA ASHE B31.3 2010 EDITION, | CADO INDUSTRIES INC. CUSTOMER: SENNWEST EXPLORATION
PIPE SPEC:  CS WELD PROC..  CADO-S 7491 — 110 AVE SE, CALGARY, ALBERTA T2C 3B8 ONIT O 2013-070-601
DESIGN PRESS.. 9378 KPAG RADIOGRAPHY:  100% TEL: (403) 279-6662; FAX: (403) 279-6687
ci § _WE Q0o Q _
MDMT: ~23 0%6. C PICKLE & Ol N/A | LOCATION:
- T. n | i
CA. 1.6 mm SANDBLAST: SP-6 t : l‘ —] LINE TAG: V—2400 WATER QUTLET
TeST 9RESS: 1406 | PANT: WARM GREY 0 | ISSUSD FCR CONSTRUCTON oyl w b oWs | S —
Tt oo - o ATION . upp— Y T s | DRANNG ND 070-178 |EV.
TEST WEDA WATER | INSULATION. N/A NO. Rais ON OE PER I -4 APR T b :




Blio OF MATERIAL
MaRK  STZE DESCRIPTION QTY  WEIGHT
1 2 SIPE. SMLS, BW, SCH. 80, A106 GR B 171 MM 1.3
2 3X2 PEDUCER, CONC, BW, SCH. 80, A234 GR W3 1 0.9
3 3 SLEED RING, RF, 600#, RF, 2lmm HOLE | 1.0
4 3 FLANGE, RFWN, CL60D, SCH. 8O BORE, AICSN 1 10.5
5 2 FUANGE, RFWN, CL600, SCH. 80 BORE, ALOSN 1 5.5
o 5 3 GASKET. CL600 SPIRAL WOUND, 316 SS/ 3 3.0
N FLEXTBLE GRAPHITE
7 2 CASKET, CL6CO SPIRAL WOUND, 316 SS / 1 1.0
FLEXIBLE GRAPHITE
8 3/4X171 (g STUD BOLTS W/ NUTS, A193 GR B7M / ! 1.0
A194 GR 2HM
9 3/4%X127 (g STUD BOLTS W/ NUTS, At93 GR B7M / | 1.0
A194 GR 2HM
10 3 VALVE. BALL, RP, RF, NACE, CLASS 600 1 38. 6
ASME, ALCSN
11 3 CONTROL YALVE, FISHER ET, 600LB FLC, RF 1 1.0
TOTAL FABRICATION WEIGHT 64,5
CUT PIPE LENGTH
38
PIECE LENGTH SIZE
NUM (MM ( INCH)
(A 171 2
T
~o W
~2 S
<y
U
1y
PIPING DESIGNED IN ACCORDANCE WITH ASME 331.3 2010 EDITION, CADO INDUSTRIES INC. CUSTOMER: DENNWEST EXPLORATION
PIPE SPEC:  CS WELD PROC.  CADO-> 5491 - 110 AVE SE, CALGARY, ALBERTA T2C 3B8 UNT O 2013-070-601
DESIGN PRESS.. 9378 KPAG RADICGRAPHY:  100% TEL: (403) 279-6662; FAX: (403) 279-6687
- WEL S T i 7
MONT: ~29 DEG. ¢ UPICKLE & Ol N/ ] E | |  OCATION
5P-6 | ? I T oAt .
L ——- , : LINE TAG: J—2400 WATER OUTLZT
WARM GREY [ | iS5uEp FOR CONSTRUCTON B IR —
N/A LN | 37, 50N QAT | 3¢ | K | AR DRANNG NS 875-17C g




BILL OF MATERIAL
MARC  SIZZ DESCRIPTION QTY  WEIGHT
4
ai T 1 2 P[PE, SMLS, BW, SCH. 80, Ai06 GR B 189 MM 1S
q3,07~’ 2 32 TEE, RED, BW, SCH. 80, A234 GR WPB 1 2.2
. 3 2 ELBOW, 90 DEG, LR, BW, SCH. 80, A234 (R 1 0.9
e WPB
. o S 4 3 FLANGE, RFWN, CL600, SCH. B0 BORE, ALOSN ? 20. 9
| b 5 3 GASKET, CL600 SPIRAL WOUND, 316 5§/ 4 4.0
| (- FLEXIBLE GRAPHITE
L 6 3/4%127 ¢(g8) STuUD BOLTS W/ NUTS, A193 GR B7M / 4 4.0
1 A194 GR 2HM
22 7 3 VALVE. SWING CHECK, RF, NACE, CLASS 600 ! 61.3
ASME, A105SN
0 8 3 VALVE, BALL, RP, RF, NACE, CLASS 600 ! 38 6
o ASME, AL0SN
? TOTAL FABRICATICN WEIGHT 133. 2
EL +384 ;427
\/ cuT PIPE LENGTﬂ
0% PIECE  LENGTH SIZE
NUM (MM ¢ INCHD
A 48 2
(B 141 2
AN
(s o~ e
Nr 2
Oy W
EET R
unla\
670‘[
L
Loty
1556
5% 5D
SPING DESIGNED IN ACCORDANCE WiTH ASME 831.3 2010 EDITION, CADO INDUSTRIES INC. CUSTOMER: SENNWEST EXPLORATION
PPE SPEC: G5 WELD PROC.  CADO-3 4491 - 110 AVE SE, CALGARY, ALBERTA T2C 3B0 USIT NG 2013070601
DESIGN PRESS.. 9376 KPAG RADIOGRAPHY: 1007 TEL: (403) 279-6662; FAX: (403) 279-6687 |
DESIGN TEMP.. 90 DEG. C PWHT: N/A | | MODEL: 4-WELL SEPARATOR SKID {BU-2000)
MOMT: -39 DEG. C PICKLE & Ol N/A i | LOCATION:
CA: L5 mm | SANDBLAST:  SP-6 - ! ——| LINE TAG: V-2400 WATER QUTLET
TEST PRESS. 14054 XPAS JEENE WARM GRS 0| 35uT0 02 SINSTRUITON TTaas] v W e }
! | = i B EIV AV A70-170 ES
TZ57 ME0WA WATZR PINSULATION, N/ LN 3TN - e S Lid=1il . |




RiLL OF MATIRIAL

MaR<  SIZE LESCRIPTION 0iy  WEIGHT
| 2 PIPE, SMLS, BW, SCH 80, AlC6 GR B 3085 MM 228
2 2 LpOW, 90 DEG, LR, BW, SCH 80, A234 (R 3 2.7
WP3
3 2 FLANGE, RFWM, CL6CO, SCH. 80 BIRE, ALGSN 1 5.5
4 2 GASKET. CL&00 SPIRAL WOUND, 316 SS/ ! 1.0
FLEXIBLE GRAPHITE
5 5/8X108 ¢ STUD BOLTS 4/ NUTS, A193 GR B7M / ! 1.0
A194 GR 2HM
6 2 VALVE. GLOBE, RF, NACE. CLASS 600, ASME, ! 40. 9
q \ ALOSN _
41 > @,
yzlﬁ‘ £27 % TOTAL FABRICATION WIIGHT 73.7
(B?@ (t 252 —
' 3@ | CuT PIPE LENGTH
C\ Pate PIECE LENGTH SIZE
, X Dp NUM MM ¢ INCHD
2560
N ¢ad 1939 2
. (B> 320 2
oA GO e Sy, © 8 ]
~“ (A @ \‘~BEN
>® SPINDLE 45 U43 AN SHEET
RN
17y
P
X0¢ @
/17 ’/ 2‘ 5
g0
20
e
gH
o
i
ot 75
SPING DESIGNZD IN ACCORDANCE WiTr! ASME B31.3 2010 EDITION, CADO INDUSTRIES INC. CUSTOMER: PENNWEST EXPLORATION
PPE SPEC.  CS WELD PROC.  CADO-S 2491 — 110 AVE SE, CALGARY, ALBERTA T2C 3B8 UNIT NGO 2013-070-601
DESIGN PRESS. 9378 KPAG RADIOGRAPHY: ~ 100% TEL: (403) 279-6662; FAX: (403) 279-6687
! £ . -We 3 \ \ - h
o e, %0 056, © e "/ MODEL 4—WELL SEPARATOR SKID (8U-2000)
|
uT - 23 DEG. C BICKLE & Ol N/A | | LOCATION:
-~ : I
L SANDBLAST: SP-6 | B e ] LNE TG y—-2400 WATER QUTLET
7237 PRIS3:  H4DBY KAAD L oANT WARM GREY g jISSUT) Ao TINETELUTON iyl bowl o e —
- - - , — T an | DPARRG N N7 AT A
To37 Mz NATER | NSULATION: N/A PoNG RISN nuTE oy >y 22 ; i )




BILL OF MATERTAL

MARK  SIZE DESCRIPTION Qry  WEIGHT
1 2 PIPE, SMLS, BW, SCH 80, ALD6 GR B 1125 M4 8.5
2 2x1/2 THREDOLET, CL3000, ALGSN 1 0.2
3 2 ELBOW. 90 DEG, LR, BW, SCH.80, A234 IR t 0.9
WPB
A 2 CLANGE, RFWN, CL600, SCH.80 BIRE, ALOSN 1 5,
5 2 GASKET. CL600 SPIRAL WOUND, 316 SS/ 3 3.0
FLEXIBLE GRAPHITE
6 5/8X108 gy STUD BOLTS W/ NUTS, A193 GR B7M / 2 2.0
A194 GR 2HM
7 2 VALVE. BALL, RP, RF, NACE, CLASS 600 1 20. 0
ASME, A10SN
8 2 VALVE, GLOBE, RF, NACE, CLASS 600, ASME, 1 40. 9
A1OSN
TOTAL FABRICATION WEIGHT 807
l_EPT PIPE LENGTQ_]
PIECE LENGTH SIZE
NUM {MM) ¢ INCHD
A 1004 2
mwmmmwmmmmwwwmm&ummwmm CADO INDLEHIHES INC. USTONER: SENNWEST EXPLORATION
pIPE SPEC. G5 WELD PROC.  CADO-S 4491 — 110 AVE SE, CALGARY, ALBERTA T2C 3B8 . T
UNIT NO.: 2013-070-601
DESIGN PRESS.. 9376 KPAG RADIOGRAPHY:  100% TEL: (403) 279-6662; FAX: (403) 2796687
DESIGN TEMP.. 90 DEG. C PWHT: N/A MODEL: 4-WELL SEPARATOR SKID (BU-2000)
MOMT: -29 DEG. C PICKLE & Ol N/A OCATION
: SANDBLAST: SP—6
CA. L6 mm LINE TAG: V=2100 DRAIN
TEST PRESS. 14064 KPAG PANT: WARM GREY 0 | ISSUSD FOR CONSTRUCTION 0/ | AP | We | W —
TEST MEDIA  WATER NSULATION:  M/A NO. REVISION ONE | Br | CHK | APR DRAWING NO- 070-18A '




BILL OF MATERIAL

- BA
l3,0701 MARK  SIZE DESCRIPTION QTY  WEIGHT
0 .
L
" SHEE 1 2 PIPE, SMLS, BW, SCH 80, A106 GR B 2715 MM 20. 3
/’ngﬂ 2 2x1/2 THREDOLET, CL3000, A10SN ! 0.2
CUN 3 exi/e THREDOLET, CL3000, ALOSN 1 0.2
4 2 ELBOW, 90 DEG, LR, BW, SCH 80, A234 (R 1 0.9
WPB
0 5 2 FLANGE, RFWN, CL600, SCH. 80 BORE, AIOSN ! 10. 9
3 12 6 2 GASKET, CL600 SPIRAL WOUND, 316 SS/ 2 2.0
s FLEXIBLE GRAPHITE
7 5/8%108 (8) STUD BOLTS W/ NUTS, A193 GR B7M/ 2 2.0
A194 GR 2HM
8 2 VALVE. SWING CHECK, RF, NACE, CLASS 600 1 31. 8
ASME, A10SN
TOTAL FABRICATION WEIGHT 68. 1
cUT PIPE LENGTH
PIECE LENGTH SIZE
NUM ¢ MM ¢ INCH)
<A 321 2
B 2515 2
<B) @
8677
RS
'!|
™
292
DIPING DESIGNED IN ACCORDANCE WITH ASME B31.J 2010 EDITION, | CADO INDUSTRIES INC. CUSTOMER SENNWEST EXPLORATION
PIPE SPEC.:  CS WELD PROC.  CADO-S 491 — 110 AVE SE, CALGARY, ALBERTA T2C 3B8 UNT NO-: 2013-070-601
DESIGN PRESS.. 9376 KPAG RADIOGRAPHY:  100% TEL: (403) 279-6662; FAX: (403) 279-6687
DESIGN TEMP.. 90 DEG. C PWHT: N/A MODEL: 4—WELL SEPARATOR SKID (BU-2000)
MOMT: ~29 DEG. C PICKLE & Ol:  N/A LOCATION.
MomT: TR e v
o - o e £D FOR CONSTRUCTIO Hilo/013| 4P | WC | WC UNE TG V-2100 DRAIN
' : WARM GREY 0 | ISSUED FOR CONSTRUCTION \
TEST PRESS. 14064 KPAG PAINT : . o R =
TEST MEDIA: WATER INSULATION: N/A NO. REVISION DATE BY | CHK | APR

L



MARK  SIZE DESCRIPTICON 0TY  WEIGHT
L 2 PIPE, SMLS, BW, SCH BO, ALO6 GR B 1125 MM 8.5
2 2X1/2 THREDOLET, CL3000, ALOSN L 0.2
3 2 ELBOV, 90 DEG, LR, BW, SCH.80, A234 OR 1 0.9
WPB
4 2 FLANGE, RFWN, CL60O, SCH. 8O BORE, ALOSN | 5.5
5 2 GASKET, CL600 SPIRAL WOUND, 3i6 SS/ 3 3.0
FLEXIBLE GRAPHITE
6 5/8%108 (8) STUD BOLTS W/ NUTS, A193 GR B7M / 2 2.0
A194 GR 2HM
7 2 VALVE. BALL, RP, RF, NACE, CLASS 600 1 20. 0
ASME, A10SN
8 2 VALVE, GLOBE, RF, NACE, CLASS 600, ASME, 1 40.9
ALOSN R
TOTAL FABRICATION WEICGHT _80.7
CUT PIPE LENGTH
PIECE LENGTH SIZE
NUM  (MMD ¢ INCH)
A 1004 2
PIPING DESIGNED IN ACCORDANCE WITH ASME B31.3 2010 EDITION, CAD 0 INDUSTRIES INC. CUSTOMER: PENNWEST EXPLORATION
PIPE SPEC: €S WELD PROC..  CADO-S 4491 — 110 AVE SE, CALGARY, ALBERTA T2C 388 . A7
UNIT NO.: 2013-070-601
DESIGN PRESS.. 9376 KPAG RADIOGRAPHY:  100% TEL: (403) 279-6662; FAX: (403) 279-6687
esion TEWP. 90 DEG. C oW, /A MODEL: 4—WELL SEPARATOR SKID (BUQOOO)
MOMT: -29 DEG. C PICKLE & Ol N/A LOCATION:
CA: 16 mm SANDBLAST: SP-8 . LINE TAG: Y2200 DRAIN
TEST PRESS: 14084 KPAG PAINT: WARM GREY 0 | ISSUED FOR CONSTRUCTION 1/10/2083 | AP W | We -
TEST MEOW:  WATER INSULATION: ~ N/A NO. REVISION DATE gy | cHK | APR DRAWING NO.: 070-19A g

BILL OF MATERIAL




BILL OF MATERIAL

-~ gA
13,0701 MARK  SIZE DESCRIPTION QTY  WEIGHT
0
AL
L SHEE 1 2 PIPE, SMLS, BW, SCH. 80, A106 GR 3 2715 MM 20,3
N
- ) 0 2 2x1/e THREDOLET, CL3000, ALOSN ! 0.2
(ot 3 2x1/2 THREDOLET, CL3000, A1OSN ! 0.2
4 2 ELBOV. 90 DEG, LR, BW, SCH. 80, A234 R ! 0.9
WPB
0 5 2 FLANGE, RFWN, CL60O, SCH. 80 BORE, ALOSN ! 10. 9
(3) |0 3 2 CASKET, CL600 SPIRAL WOUND, 316 SS/ 2 2.0
FLEXIBLE GRAPHITE
7 5/8%108 (8) STUD BOLTS W/ NUTS, A193 GR B/M / 2 2.0
A194 GR 2HM
8 2 VALVE. SWING CHECK, RF, NACE, CLASS 600 L 31.8
ASME, A105N
TOTAL FABRICATION WEIGHT 681
L_EpT PIPE LENGTQ_]
PIECE LENGTH SIZE
NUM (MM ¢ INCH)
<A 321 2
(3 @515 2
3577
(637
'\]
™
292
FPG DESOED I ACOORDACE WTk SUE 8313 2010 EX0 CADO INDUSTRIES INC. cusiougR  PENNWEST EXPLORATION
ppE SPEC.: €5 WELD PROC.  CADO-5 4491 — 110 AVE SE, CALGARY, éLBERTA T2C 3B8 UNIT NO.: 9013-070~601
DESIGN PRESS.: 9376 KPAG RADIOGRAPHY:  100% TEL: (403) 279-6662; FAX: (403) 279-6687
eqGN ToWP. 90 DFG. G oW N/A - MODEL: 4-WFLL SEPARATOR SKID (BU—ZOOO)
MDVT: -29 DEG. C PICKLE & OlL:  N/A {OCATION:
CA: 1.6 mm SANDBLAST:  SP-6 T e LINE TAG: y-2200 DRAIN
TEST PRESS. 14064 KPAG PAINT: WARM GREY 0 | ISSUED FOR CONSTRUCTION 11/10/201 — g T
TEST MEDIA:  WATER INSULATION: N/A NO. REVISION DATE | 8y | Cik | APR :




BILL

F MATERIAL

et

MARK  SIZE DESCRIPTION ary
! 2 PIPE, SMLS, BW, SCH. 80, A106 GR B {1gs MM 8.5
2 2x1/2 THREDOLET, CL3000, ALDSN 1 2
3 P cLEGW. 90 DEG, LR, BW, SCH 80, A234 GR - 1 0.9
WPB
4 2 FLANGE, RFWN, CL600, SCH. 80 BORE, ALOSN L 5.5
5 2 GASKET, CL600 SPIRAL WOUND, 316 SS/ 3 30
FLEXIBLE GRAPHIT
6 S/8X108 (8 STUD BOLTS W/ NUTS, A193 GR B7M / 2 2.0
A194 GR 2HM
7 2 VALVE. BALL, RP, RF, NACE, CLASS 600 1 20. 0
ASME, A105N
8 2 VALVE. GLOBE, RF, NACE, CLASS 600, ASHE, 1 40. 9
ALOSN
TOTAL FABRICATION WEIGHT 80. 7
CUT PIPE LENGTH
PIECE LENGTH SI1ZE
NUM (MM ¢ INCHD
4y 1004 2
PIPING DESIGNED N ACCORDANCE WITH ASME B31.3 2010 EDITION, CADO INDUSTRIES INC. CUSTONER: SENNWEST EXPLORATION
PPE SPEC. €S WELD PROC.  CADO-S 7491 - 110 AVE SE, CALGARY, ALBERTA T2C 3B8 . ~
o ; UNIT NC.: 2013-070-601
DESIGN PRESS.: 9376 KPAG RADIOGRAPHY:  100% TEL: (403) 279-6662; FAX: (403) 279-6687
DESIGN TEMP. 90 DEG. C PWHT: N/A MODEL: 4-WELL SEPARATOR SKID (BU-2000)
MOMT: 29 DEG. € PICKLE & O N/A T Locson:
- SANDBLAST:  SP-B
CA: 1.6 mm NDB ‘ LINE TAG: V-2300 DRAIN
TEST PRESS. 14064 KPAG PANT: WARM GREY 0 | ISSUED FOR COMSTRUCTION /03| AR | WC ) e -
TEST MEDW:  WATER INSULATION: /A NO. REVISION cATE | BY | CHK | APR DRAWING NO-: 070-20A ‘ - 0




BILL OF MATERIAL

o0
?070 MARK ~ SIZE DESCRIPTION Ty WEIGHT
@
’aNSHE 1 2 PIPE, SMLS, BW, SCH. 80, A106 GR B 2715 MM 20.3
. 2 2x1/2 THREDOLET, CL3000, ALOSN 1 0,2
(N 3 2X1/2 THREDOLET, CL3000, A1OSN 1 0.2
4 2 FLBOW, 90 DEG, LR, BW, SCH. 80, A234 GR 1 0.9
WPB
0 5 2 FLANGE, RFWN, CL600, SCH. 80 BORE, A1O5N 1 10. 9
3 ! 6 2 GASKET. CL600 SPIRAL WOUND, 316 SS / 2 2, 0
FLEXIBLE GRAPHITE
7 5/8%108 ¢g) STUD BOLTS ¥/ NUTS, AL93 GR B7H / 2 2.0
A194 GR 2HM
8 2 VALVE. SWING CHECK, RF, NACE, CLASS 600 ! 31, 8
ASME, ATOSN
TOTAL FABRICATION WEIGHT 68, 1
CUT PIPE LENGTH
PIECE LENGTH S1ZE
NUM (MM2 ¢ INCHD
<A 321 2
B> 2515 2
3677
SIPING DESIGNED N ACCORDANCE WITH ASME B31.3 2010 EDITION, 2011 AD. CADO INDU STRIES INC. CUSTOMER: DENNWEST EXPLORATION
PIPE SPEC: €S WELD PROC. _ CADO-S »491 - 110 AVE SE, CALGARY, ALBERTA T2C 3B8 UNIT MO 2013-070—601
DESIGN PRESS.: 9376 KPAG RADIOGRAPHY:  100% TEL: (403) 279-6662; FAX: (403) R76-6687
DESIGN TEMP.: 90 DEG. € PWHT: N/A MODEL: 4—WELL SEPARATOR SKID (BU-2000)
MOMT: ~29 DEG. € PICKLE & Ol N/A | oownon:
- ANDBLAST: ~ SP-6
CA: 6 mm | SADALA 1 e e V=2300 DRAIN
TEST PRESS.. 14064 KPAG PAINT: WARM GREY 0 ISSUED FOR CONSTRUCTION H/0/2013 ] AP We We —
TEST MEDIA:  WATER NSULATON: — N/A NO. REVISION e Uy | ok | apr | DRAWNG NO: 070-208 '




